
CSci340,Spring2003,Assignment6

This assignmentis dueFriday, May 2, at 4:00pm.You shouldsubmityour solutionbothelectronically
(using“handincs 340 6”) andto my office (usingpaper).

Your job in thisassignmentis to write aprogramthatreadsaninteger � from theuser, thenreads� more
integers,andthenprintsthesumof these� integers.

3 Number of users to read
23 First number
42 Second number
34 Third number
99 Sum of the numbers

Thisprogramprints
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You cantype “getcs 340 6” to fetch templatecodefor this lab. This templatecodeincludesthe

readInteger function,which returnsanIO Integer wrappinganintegerreadfrom theuser.

readInteger :: IO Integer
readInteger = getLine >>= (return . read)

A correctsolutionmustincludeamain functionof theIO () type.
Suggestion: Write two functions:

readNums :: Integer -> IO Integer
main :: IO ()

ThereadNums functiontakesaparametern andreturnsanIO valuewrappingthesumof n numbersread
from theuser. Themain functionperformstheoverall assignment.


